A20 — Probabilitas dan Statistik

Jawaban: B) 1/4

Jawaban: B) 151.200. *** Koreksi

Jawaban: A) 1/n

Jawaban: D) 1/5

Jawaban: D) 148

Jawaban: B) 2

Jawaban: B) f(x) = %; untuk x = 1,2,3,4,5. ***Tetap f(1) = _?1
Jawaban: *** dianulir

Jawaban: A) 4e3

10.Jawaban: D) f(y) = (\7;) (E)\/y (S)B_W; y=20,1,4,9.

11.Jawaban: B) 2/15
12.]Jawaban: B) 1/3
13.Jawaban: B) 3,5 kg’
14.]Jawaban: A) 1/6
15.Jawaban: A) 0,023
16.jawaban: B) 60
17.Jawaban: A) 0,023
18.Jawaban: C) 6 - (0,4)°.
19.]Jawaban: D) n
20.Jawaban: D) Var(X) = c?
21.Jawaban: A)1/3

1/3
22.Jawaban: D) G) /
23.]Jawaban: B) 110
24.Jawaban: D) %
25.Jawaban: C) P(AU B) > 3/4.
26.Jawaban: D) P(A) = 1/8.
27.Jawaban: B) ¢ =2,d = 0.
28.Jawaban: **** dianulir
29.Jawaban: A) e~2.
30.Jawaban: D) e?*My(at)
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